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5a.

6a.

b.

A 6 pole, 150 armature current dc shunt generator ha;affiSnductors and is wave wound.

Finildemagnetizing and cross magnetizing ampere q*r{r{mpryat full load if.

i) Brushes are atthe geometrical neutral axis (G$fS)r
ii) Brushes are shifted from G.N.A by 5o eleqtmficYlk*

iil) Brushes are shifted from G.N.A by 5' okseh.W (07 Marks)

What is commutation? Explain practical corrffitBtion with neat diagraqL of DC machine.
&h.*as -d11$*b (08 Marks)

What is three winding transformer? ffiUrffthe stabilization is ffied due to tertiary
W (05 Marks)winding. **&. 
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(07 Marks)
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ii) Full pitch and fracfflggdl$itch coils. .*- (07 Marks)

b. Wnat is armature reaffi With neat figures exri#iiilarmature reaction in machine under

c. Derive emf equaffiU'f alternators. &* d (05 Marks)
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7a.Whati,,ffiW%ationofun.*u.ffi.henecessaryconditionforsynckonization.
How th#Wse alternators are synqhdnized? (l0lVlarks)

b. Witfu&ffiircuit diagam, explp&Sbw to perform slig{est on salient pole synchronous

macffffi&and indicate how )fu "fW can be determirpeffi" (10 Marks)

d ffiffifl Jh-
-5" oR ffi)fu:ll 
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o t;;;! OR ffi1;mfiF 

o ,iK8 a. What is slmchronoscopffi* it is used for.sflrffinization of ahffi6rs? (07 Marks)

b. A 400V, 50Hz dehaffirnected alternat*&flm a direct a;is deactance of 0.10 and q:ted alternaffifrm u direct
0.070 peffiksse. The armat

A, at 0ffir$#ateine p.f {

(08 Marks)
(05 Marks)

b. A 400V, 50Hz delta'qffffhnected alternaffifi& a direct a6is deactance of 0.10 and q
quadrature axis rpactdnce of 0.070 pef?@sb. The armaturol;resistance is negligible. The

alternator is srry@ing 1000A at OffipfJaggine p.f. iffi&hd excitation emf neglecting

saliency and@)rning Xa = X,;ffi"Find the excitatioh emf taking into account the

saliency. ^ 
* q{U# **" * (08 Marks)salrency. ^* ryi d\

c. write ffinote on v-curveqffi%srnchronous sffi1tor
6\ Y& " -.;

/ elt/ - v

f0 a.

b.
c.

a. WiS ribat circuit diag*gffi*plain in det*ffiHffiw to perform zero power factor test and use

$otier reactance to deterdffie regulation."* -ld"-^' (10 Marks)

hffi. effective resisffi of z.ztlv,50HAq4[hOtVA, single phase alternator is 0.5o. on short

Wcircuit a field ctffitf +OAmp giyesd full load current of 200A. The emf on open circuitcircuit a field ctffitf +OAmp giyesd full load current of 200A. The emf on open circuit
with the sarnge*fiqffif€xcitation is t*&KV. Find the value of synchronous impedance and ftnd
the voftaffiftlation at tull toffiryid i) Unity power factor ii) 0.8pf lag. (10 Marks)

w ,q@ oR
What is short circuit ra;i@phin the significance of SCR.

Write a short note on &#Wfility curves of synchronous generator.

What is hunting in sypclffonous machine? Explain the role of damper winding.
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